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B4 R S it Ea 0 0 0 0 5,030, 000 5,030,000| 20, 000, 000 25,030, 000
= B & it & 0 0 0 0 5,030, 000 5,030,000| 20, 000, 000 25,030, 000
M I E23 1,274,235 0 0 0 0 1,274,235 159, 267 1,433,502
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#h # F E] 0 0 0 0 2,801, 106 2,801, 106 0 2,801, 106
53 h B o4 & 19, 254, 500 0 0 0 0 19, 254, 500 0 19, 254, 500
53 h # T E 10, 000, 000 0 0 0 0 10, 000, 000 0 10, 000, 000
ES B & 0 925, 926 0 0 0 925, 926 0 925, 926
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)id b= x & & 1,765,589 4,227,384 223,384 154, 885 0 6,371,242 0 6,371, 242
# £ £ B K B X B B 438, 582 0 0 0 0 438, 582 0 438, 582
R & £ B Kk B X & & 0] 3,547,925 0 0 0 3,547,925 0 3,547,925
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z 2] 1t 439, 389 679, 459 188, 716 154, 885 0 1,462, 449 0 1,462, 449
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E il ] X # 0 0 0 0 0 0 981, 862 981, 862
B’ El # 0 0 0 0 0 0 180, 000 180, 000
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= B # 0 0 0 0 0 0 521, 359 521, 359
i # k3 & # 0 0 0 0 0 0 801,775 801,775
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